ass alg the axon.

es are Adapted to their Function.

_ % The myelin sheath acts as an electrical insulator, which stops the if;}p\llSe from getting lost.
: The sheath also speeds up the impulse by allowing the impulse to be carried faster.

@ ; Neurones are long which speeds up the impulse. Having lots of §“ma1_l neurones connected
together would slow down the impulse. : :
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The synapse is the connection between two

neurones — basically it’s a small gap.

Axon of neurone 1 £

" The nerve impulse is transmitted across the

synapse by chemicals called
neurotransmitters. The chemicals are only
released from the axen endings so the impulses
can only flow in one direction.

Nerve impulse \

The neurotransmitters diffuse (spread) across the synapse to set off a new electrical impulse in the

next neurone.—- ¢ ~
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Types of Neurones RE M E \)K
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There are three different types of neurones called sensory, @a\@i ay neurones.
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Motor neurons — these carry nerve impulses from the CNS to 5; X
effectors (muscles and glands). They have mamny short den drons ' Z7¢§«—dendron axon effect
and one long axon.

'

Sensory neurones — these carry nerve ’é X
) S

in the sense organs to the pentgkrg%?@ 8.
long dendrons and (Slé

Relay neurones — these carry nerve impulses from sensery neurones
to motor neurones. They have many short dendrons and axons.

-dendron axon




